

Méthodes de calcul de primitives

① Tables

② $\int f(g(x)) \cdot g'(x) dx = F(g(x)) + C$

avec $F' = f$

③ Par parties

Example (2)

$$\int \sqrt{x^2+1} \cdot (x) dx$$

$$(x^2+1)' = 2x$$

$$= \int \sqrt{x^2+1} \cdot \frac{1}{2} \cdot 2x dx$$

$$= \int \frac{1}{2} \sqrt{x^2+1} \cdot 2x dx$$

$$= \frac{1}{2} \int \sqrt{x^2+1} \cdot 2x dx = \frac{1}{2} \cdot \frac{2}{3} \cdot (x^2+1)^{\frac{3}{2}} + C$$

$$\begin{aligned} \left(\frac{1}{2} \cdot \frac{2}{3} \cdot (x^2+1)^{\frac{3}{2}} \right)' &= \frac{1}{3} \cdot \frac{3}{2} \cdot (x^2+1)^{\frac{3}{2}-1} \cdot 2x \\ &= (x^2+1)^{\frac{1}{2}} \cdot x \\ &= \sqrt{x^2+1} \cdot x \end{aligned}$$

$$\int \sqrt{T} dT = \frac{2}{3} T^{\frac{3}{2}} + C$$

$$\left(\frac{2}{3} T^{\frac{3}{2}} \right)' = \frac{2}{3} \cdot \frac{3}{2} \cdot T^{\frac{3}{2}-1}$$

$$= 1 \cdot T^{\frac{1}{2}}$$

$$= \sqrt{T} \checkmark$$

$$\int x^2 dx = \frac{1}{2+1} \cdot x^{2+1} + C$$

$$(x^n)' = n x^{n-1}$$

$$a^{\frac{p}{q}} = \sqrt[q]{a^p}$$

$$\sqrt[2]{X^1}$$

$$X^{\frac{1}{2}}$$

$$\frac{1}{1+\frac{1}{2}} \cdot X^{\frac{1}{2}+1} + C$$

$$\frac{2}{3} \sqrt{X^3} + C$$

$$\frac{2}{3} X^{\frac{3}{2}} + C$$

$$\int \boxed{\cos(3x)} dx =$$

$(3x)' = 3$

$$\int \cos(T) dT \stackrel{\text{table}}{=} \sin(T) + C$$

$$\frac{1}{3} \int \cos(3x) \cdot \boxed{3} dx = \frac{1}{3} \int \cos(3x) \cdot (3x)' \cdot dx$$

$$= \frac{1}{3} (\sin(3x)) + C$$

$$= \frac{1}{3} \sin(3x) + C$$

$$f(g(x)) \cdot g'(x)$$

~~$\int \sin^2 x \cdot \cos x \, dx = \frac{1}{2} (x - \sin^2 x \cos x) - (-\sin x) + C$~~

$\int \sin^2 x \, dx$ $\int \cos x \, dx$

(Note: In the original image, the terms $\sin^2 x$ and $\cos x$ in the integrand are circled in green, and green arrows point from them to the corresponding integrals below.)

~~$\int f \cdot g = \int f \cdot \int g$~~

$$\int \left(\sin x \right)^2 \cdot \overbrace{\cos x \, dx}^{dT}$$

$(\sin x)' = \cos x$

$$= \int T^2 \, dT$$

$$\text{for } T = \sin x$$

$$= \frac{1}{3} T^3 + C$$

$$= \frac{1}{3} (\sin x)^3 + C$$

$$(f \cdot g)' = f'g + fg'$$

$$\int (f \cdot g)' = \int (f'g + fg')$$

$$= \int f'g + \int fg'$$

$$f \cdot g = \int f'g + \int fg'$$

$$\int f'g = f \cdot g - \int fg'$$

$$\int f'(x) \cdot g(x) dx = f(x) \cdot g(x) - \int f(x) g'(x) dx$$

$$\int \cos x \cdot \cos x dx = \sin x \cos x - \int \sin x (-\sin x) dx$$

$$= \sin x \cos x + \int \sin^2 x dx$$
$$\int (1 - \cos^2 x) dx$$

$$\int \cos^2 x dx = \sin x \cos x + \int 1 dx - \int \cos^2 x dx$$

$$2 \int \cos^2 x dx = x + \sin x \cos x + C$$

$$\int \cos^2 x dx = \frac{1}{2} (x + \sin x \cos x) + C$$

$$\sin(2x) = 2 \sin x \cos x$$

$$\frac{x}{2} + \frac{\sin 2x}{4} = \frac{x}{2} + \frac{2 \sin x \cos x}{4} \checkmark$$

$$(f \cdot g)' = f'g + f g'$$

$$(x \cdot (-\cos x))' = \boxed{x \cdot \sin x} + 1 \cdot (-\cos x)$$

$(f \cdot g)'$ $f \cdot g'$ $f'g$

$$\int x \sin x \, dx = x \cdot (-\cos x) - \int -\cos x \, dx$$
$$= -x \cos x + \sin x + C$$

$$\frac{1}{\sqrt{2}} = \frac{1}{2^{\frac{1}{2}}} = 2^{-\frac{1}{2}}$$

$$\frac{x+1}{\sqrt{x^2+2x}} = (x^2+2x)^{-\frac{1}{2}} \cdot (x+1)$$

$$= \frac{1}{2} (x^2+2x)^{-\frac{1}{2}} (2x+2)$$

$$(x^2+2x)' = 2x+2$$

$$T = x^2+2x \\ (2x+2) dx = dT$$

$$\Rightarrow \int \frac{x+1}{\sqrt{x^2+2x}} dx = \frac{1}{2} \int T^{-\frac{1}{2}} dT$$

$$\text{use } \int x^n dx = \frac{1}{1+n} x^{n+1} + C$$

$$= \frac{1}{2} \int (x^2+2x)^{-\frac{1}{2}} \cdot (2x+2) dx = \frac{1}{2} \cdot \frac{1}{1+(-\frac{1}{2})} \cdot (x^2+2x)^{1-\frac{1}{2}} + C$$

$$= \frac{1}{2} \int f(g(x)) \cdot g'(x) dx = \frac{1}{2} \cdot \frac{1}{(\frac{1}{2})} \cdot (x^2+2x)^{\frac{1}{2}} + C$$

$$= \frac{1}{2} \cdot \frac{2}{1} \cdot (x^2+2x)^{\frac{1}{2}} + C$$

$$= (x^2+2x)^{\frac{1}{2}} + C$$

$$f(T) = T^{-\frac{1}{2}}$$

$$T = g(x)$$

$$(f \cdot g)' = f'g + fg'$$

$$\cos^2 x$$

$$\boxed{\cos x \cdot \cos x}$$

$$(\sin x \cdot \cos x)' = \cos x \cos x + \sin x (-\sin x)$$

$$\sin x \cos x = \int \cos^2 x dx + \int -\sin^2 x dx$$

$$\sin^2 x + \cos^2 x = 1$$

$$\sin^2 x = 1 - \cos^2 x$$

$$\sin x \cos x = \int \cos^2 x dx - \int \sin^2 x dx$$

$$\sin x \cos x = \int \cos^2 x dx - \int (1 - \cos^2 x) dx$$

$$\sin x \cos x = \int \cos^2 x dx - \int 1 dx + \int \cos^2 x dx$$

$$\sin x \cos x = -x + 2 \int \cos^2 x dx$$

$$\Rightarrow \int \cos^2 x dx = \frac{1}{2} (x + \sin x \cos x) + C$$

$$= \frac{x}{2} + \frac{\sin 2x}{4} + C \quad \text{or}$$

$$\sin 2x =$$

$$2 \sin x \cos x$$

$$(f(x) \cdot g(x))' = f'(x) \cdot g(x) + f(x) \cdot g'(x)$$

$$x \cos x$$

$$1 \cdot \cos x + x \cdot \sin x$$

$$\int x \cdot \sin x \, dx$$

$$x \cos x = \int \cos x \, dx + \int x \sin x \, dx$$

$$x \cos x = \sin x + \int x \sin x \, dx$$

$$\int x \sin x \, dx = x \cos x - \sin x + C$$

$$(f-g)' = f'g + fg'$$

$$\cos x \cdot \cos x + \sin x \cdot (-\sin x)$$

$$\int \cos^2 x \, dx =$$

$$\int \cos x \cdot \cos x \, dx$$

$$\sin^2 x = 1 - \cos^2 x$$

$$\left(\frac{1}{3} \cos^3(x) \cdot \frac{1}{\sin x} \right)' =$$

$$\left(\frac{1}{3} \cos^3(x) \right)' \cdot \frac{1}{\sin x} + \frac{1}{3} \cos^3(x) \cdot \left(\frac{1}{\sin x} \right)' =$$

$$\frac{1}{3} \cdot 3 \cos^2(x) \cdot (-\cancel{\sin x}) \cdot \frac{1}{\cancel{\sin x}} + \frac{1}{3} \cos^3(x) \cdot \frac{-1}{\sin^2 x} \cdot \cos x =$$

$$- \cos^2(x) - \frac{1}{3} \frac{\cos^4 x}{\sin^2 x}$$